Soru 1.

For the common-base configuration of Fig.

(a) Determine r,.
(b) Find Z; and Z,,.
(¢) Calculate 4, and 4,

Coziim 1.
(@) Ip="m Ve _OV— 07V _4399ma
R, 68 KD
9 7 ) 7
ro= 2oV _ 20mV__ 55580
Ig 0.779 A
(b) Z=Rg| 7,=6.8kQ| 33.38
-33220
Z,=Rc=47kQ

() A= R, 5, (0.998)(4.7 k)

¥ 33.38Q
=140.52

Soru 2.

For the network of Fig. 8.73:
(a) Determune r, and Br..
(b) Find Z; and Z,.

(¢) Calculate 4, and A4,

+6V -10V
6.8 kO AF
I]n 1 J.'
—_—
R | {
= o =0.998
: r,=1MQ
-
16V

>,



Cevap 2.

(@) I= Vee = Ve _ 16V-07V _ 153V
o RB 1 (G l}RE 270 kQ 1 (11 D(2.7 k) 569.7 k2
=26.86 1A
I=(f+ 1)p=(110+ 1)(26.86 A)
=298 mA
i 26 mV _ 26 mV 87170
Fi 2.98 mA

Gr.=(110)(8.72 Q) =959.2 Q

(b) Zy=pr.+(B+ 1Rz
=9592 QO+ (111)(2.7 kQ)
= 300.66 kQ
Z=Rz|| Z»=270kQ || 300.66 kO
=142.25kQ
Z,=Re||r.=2.7kQ||8.720=8.69Q

R 2.7kQ
() A= E__ = 0.997
R.+r, 2.7kQ+8.69Q
Soru 3.
_ . 18V
For the network of Fig. 6.78. Fp = 9 V. Determine: i
(a) Ip. &
(b) Vsand Vps. g 2kQ
(¢) Vg and Vgs. §?50 kQ )
(d) Vp. ———¥%=9V




Cevap 3.

V. _ T T T
() Ip=—te=low=lp ISVON IV _ysma
R, R, 2kQ 2kQ
(b) Vs=IRs=IpRs= (4.5 mA)(0.68 kQ)
=3.06V
Vps= Vpp — Ip(Rp + Rs)
=18V -(45mA)2kQ+0.68 k)
=18V-1206V
=594V
(c) Vg= 2, Vop = 1 KEX(I8 V) =195V
R +R, 750 kQ +91kQ
Vas=Ve—Vs=195V-306V=-111V
d) Vo= Ve _ -1.11V 444V
[ o 1_\/4.5 mA
I s 8 mA
=—-1.48V
Soru 4.

For the combination network of Fig. 6.86. determine:

(a) VB and V{;. .
(b) Fz. T 16V
(¢) Ig. Ip. and Ip. | .
(d) Ip. | gz.z ki2
(e) Ve. Vs. and Vp. » 40 k6L
(D Ver .—a} :
(g] VDS ‘_‘ b - _I + r",“=ﬁm\.
| g == W= 0V
|
it

; 10 kfk

Figure 0.80



Cézim 4.

Testing:
ORg = 10R,
(100)(1.2 k) = 10(10 k)
120 kQ = 100 kQ (salisfied)

RVyp  10kQ(I6V)
R +R, 40kQ+10kQ
=32V

(@) Ve=VTs=

(b) Ve=Vs—Vag=32V-0.7V=25V

| 25V
() Ig=-E-= ¥ - 2.08 mA
R, 12kO
le=I-=2.08 mA
In=1-=2.08 mA

(d)

(e)

()

1 _ 2.08 mA

I:
57 100

=20.8 A

Ve=Ve—Ves

I b
I;J'GS.: ;’:p[]__ ’ D
ID.SS y

2.08mA
6 mA

= (-6 V)[ 1-
=247V
3.2 -(-247V)
=5.67V
Vs=V-=5.67V
'p=Vop —IpRp
=16V —(2.08 mA)2.2KkQ)
=1142V

Ve

Vep=Ve— V=567V =25V
=317V

Vos=Vp—Vs=1142V-5.67V
=575V



